Chemistry 210 « Chemical Reactions & Equations 2

Write COMPLETE, BALANCED chemical equations for the following reactions:

1, @cHQ_HCH C«,CQ* A H, |
2. 4FeS+iNaBr > RBr; 3 T\\naa_s (\:m\‘ex, W — A&B

e

(How)
A K+ BO> 2 KO\"\' + H)_
4. i AlBrsyg) —(electrolysis)—> Q A Q(s) + 3 B o
5. D BaCh+ e NaPO,> ’5&3@@&5& + Na (A

. 6. Calcium metal reacts with oxygen in the air.
C —> 2.0
<9‘2 Q’(Dj\— O;L -0 s

7. Solutions of iron (IT) nitrate and aluminum chloride are mixed.

285 FelNos), v

(ez ) (e ) —
8. Aqueous alummum iodide is mxxed with a solution of silver nitrate. T aa )

AT~ *—5’—3%'\\05 AL(NO4), +3 Ag:f(s)

9. A solution of lead (11} nitrate is mixed with a solution of potassium hydroxide.
— Ph(Nos), + 2 ROW, '_> oo H)l vl K'\\O%«mg.)

u(é}]}g:@ is bubbled tl(lrough a solution of chromxum(III) bromide.

3 Wy +2ACeBy, oy RCCS s ‘; 38,

11. Copper wire is added to a solution of Magnesium chloride.

Cu v Mg o —= , "8 2o G

12. A strip of magnesium is added to a solution of ¢opper chloride,

C%C—Q';t ‘%‘ V\% —> \'&6C9\ ¥ C-A*-(S)

13. Water is subjected to electrolys1s

:D\v H}O(n3 ‘Aeﬁgﬁ =’2 HJ—(«& ¥ OQ

<
14. Acetone (C;H¢O) burns (assume complete combustion). a

C?;}thpoa)‘\_ L" Oa‘ﬁ)—% 3 CO&(ES?' 5 K0

omBe s | o D
15. A piece of tin metal is thrown into a solution of silver nitrate.

S 6‘/((9 +"2AAN03“’H — SKCMOQ‘;*_QAS(S)




CHEMISTRY 210 e REACTIONS PRACTICE WORKSHEET

Balance the following chemical reactions and classify the reactions by type:
REACTION TYPE

1 i Na+ | 0,5 A Nao dé»d’{u«Si S

2 o) A+ 3 cuso, > | Aus0p, + D cu dzna& K’olacuw-vd?
s | cm+ Sos 3 co s 4 mo M[M
4. <£Nc13 -)JN2+_\1CIZ M&FM

s. /b oag+ L s> ¥ Aes éaﬁ Z@\{Q‘l S

Write a BALANCED equation for each sentence. INCLUDE STATE SYMBOLS and any catalysts or heat symbols.

6. Solid calcium carbonate reacts with hydrochloric acid (HCI) to form solid calcium chloride, carbon dioxide, and water.

Cal 05 + P Qery — C“*C'%KS)‘F CO,F Ha W)
(s> T @
7. Solid mercury(ll) oxide is heated and it decomposes to mercury metal and oxygen.
(3 )
8. An aqueous solution of chromium(V1) pitrate is mixed with a solution of sodium sulfide and a precipitate of
chromium(V1) sulfide is formred whi nitrate remains in solution.
Cf’ (NO3> + 3 I\/«,S —_—>
6 oy (7~)
Cr 533 +é> ‘\[&NOS(
Predict the products for the following double replacement reactions ahd BALANCE the equations. Uz?;)e
solubility chart to predict the STATE SYMBOLS for the products: !
2 .
9. | FexSO) @ + 2 (NH):POsey > 2 Fe. POq +3 Q\“—L‘); SOL, .
(4) o)

0.\ ) | NasSOug >
_t BaNOs)ygg + __ 1 Na;SOupq | —Baso‘_‘ + R f\lck_’\l03
(€] (epd



Predict the products for the following reactions and BALANCE the equations.

DR 1D A0y + | Napo, > ABE.PO‘{(") + 3 ,\la.'\IOB

s R 12.gQiK1+gc1z—>92K<& + T
(22{0&“1)3 o AlOH), + D 1s0, > HOH»+ 4Qaé©‘|>

Conbusfiuda. 0’2 CiHio + ,5 0, 2 ? CO‘; X ,OH}O

SR 1w oL w0 /42 (NOs), + Hacg)
5/2 16._3__Zn+:—_2_VC13—) 3 ZPLCIQ;_*QV
/QC‘__,,)'W.QK& S 2 K 4 BF}

Write formulas for the veactants, predict the products for the  following reactions, write state symbols for all, and

BALANCE the equations.
5 ?S,,\_ 18. Potassium roetal reacts with hydrogen gas. ,\/ oﬁ- V; L’-m 7’7‘ , -
A/ el - Jd’
0’\) K(j H;(33 ‘ 02 KH(S) MLL{M ‘\daé\r )

: o) aqueous solution of iron(III) nitrate is mixed with an aqueous solution of sodium chromate an
D) Fe(N0s) 5 13N, CrOy P Felr0g), (N N O,
& “p
FBO'\’Q‘L ?\’oégx\}rs oa-»-dbowu —_— /\f )? (no rgxdl‘ﬂsw)

20. Liquid Octene (CsH,) is burned in oxygen.
C [ v—’ouk ;SS"\

CeHg+120; —> BLO; 1 TH,O
21. Aqueous lithium bromide reacts with chlorine gas.
LB+ O LiCQ, + B
' + —_— | + s
ALBe o L, )
22. Sodium phosphate reacts with cobalt (IT) chloride to form a precipitate.
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